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Pedestal Distribution (average fADC count between 8 - 80 ns)
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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)
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Amplitude Distribution (with pedestal subtraction)

IIII|IIII|IIII|IIII|IIIhamF)SlJbO

Entries 100000

Mean 8.821

10*
Std Dev 9.433

Underflow 0

Overflow 0

10°

— sum64
—— dynode
quadl
— quad2
guad3
—— quad4
guadsum

10

1

o Lk o g e b

-200 -100 O 100 200 300 400 500 600
Amplitude [fADC]




T 11 | T T Tlk
10% =
103 =
10° =5 .'E
m |
B r
i ;
|
10 = (
-
1=y
E.J-l-L-L:.EJ_A
-200 -100

Integral Distribution (with pedestal subtraction)

0

200

100

iz

300

hintSubO
Entries 100000
Mean 17.77
Std Dev 43.89
Underflow 0
Overflow 0
x? / ndf 0.44 /4
Prob 0.9791
Constant 1.124 + 0.576
Mean 326.8 +272.1
Sigma 107.5 £ 214.5
— sum64 -
—— dynode
quadl
— quad2
guad3
—— quad4
guadsum
.E.'III,.I-“IIIJ---l-L-L-L-I--I--I-J-
400 500 600

Integral [fADC]




e Bt

3500
3000
2500
2000
1500
1000

500

_50_%

Amplitude (pedestal subtracted)

hampSub_ 2D
_| T 1 | T 11 | T 11 | T T | T T | T 11 | [T 1 Entri 100000 :I.(
B ntries
B Mean x 19.31P(
- Mean y 8.387
- StdDevx 14.17 ]
- StdDevy 9.331 (
- o] of of
- 01100000 O f(
— ol of o
- T TAC
— b 120
B i 10(
E E 80(
— —{ 60¢
- %_ 1= 400
— S =
B i 20(
B L 11 1 | L 1 1 1 | I | I | | L 11 1 | L 1 1 1 | I | I | B O
00 0) 500 1000 1500 2000 2500 3000 3500

sumoe4



e Bt

3500
3000
2500
2000
1500
1000

500

_50_%

Integral (pedestal subtracted)
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